

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SJQ 5328P

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BUMPER	DENTED	556.20	556.20
1	FRONT BUMPER EMBLEM	NECESSARY	60.90	60.90
1	FRONT BUMPER SEAL	NECESSARY	67.90	67.90
2	FRONT BUMPER FOG LAMP LH/RH @ \$221.40	O/S CRACKED	442.80	221.40
2	FRONT BUMPER FOG LAMP GRILLE LH/RH @ \$103.20	O/S DENTED	206.40	103.20
2	FRONT BUMPER RETAINER LH/RH @ \$65.30	CRACKED	130.60	130.60
1	FRONT BUMPER REINFORCEMENT	SERVICEABLE	395.50	-
1	FRONT BUMPER UNDERCOVER	SERVICEABLE	112.70	-
6	FRONT BUMPER CLIPS @ \$3.80	NECESSARY	22.80	22.80
1	BONNET	TO REPAIR SEE LABOUR	953.20	-
1	BONNET SEAL	NOT NECESSARY	59.70	-
7	BONNET INSUALTOR CLIPS @ \$4.30	NOT NECESSARY	30.10	-
2	HEADLAMP LH/RH @ \$770.30	N/S GRAZED / BROKEN	1,540.60	770.30
1	FRONT SUPPORT PANEL	TO REPAIR SEE LABOUR	850.20	-
1	FRONT FENDER LH/RH @ \$683.20	O/S DENTED / DISTORTED	1,366.40	683.20
2	FRONT FENDER NAMEPLATE 'VVTI' @ \$41.70	NECESSARY	83.40	83.40
2	FRONT FENDER INNER SHIELD LH/RH @ \$169.30	O/S TORN / BROKEN	338.60	169.30
16	FRONT FENDER INNER SHIELD CLIPS @ \$3.80	NECESSARY	60.80	60.80
2	FRONT FENDER PROTECTOR LH/RH @ \$86.90	O/S DENTED	173.80	86.90
1	AIR RESONATOR BOX	SERVICEABLE	120.30	-
1	WIPER WASHER TANK	SERVICEABLE	139.80	-
1	WIPER WASHER TANK MOTOR	SERVICEABLE	247.60	-
1	RADIATOR SPARE TANK	SERVICEABLE	155.80	-
1	RHF DOOR	DENTED	1,140.40	1,140.40
1	RHF DOOR TAPE	NECESSARY	67.30	67.30
1	RHF DOOR PROTECTOR	NECESSARY	89.20	89.20
1	RHF DOOR CHROME	NECESSARY	25.40	25.40

Report Ref No. CS3/III18001539/Lvbs2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	RHF DOOR HINGE @ \$80.10	DENTED / DISTORTED	160.20	160.20
1	RHF DOOR CHECKER	SERVICEABLE	82.30	-
1	RHF DOOR LOCK	TO REPAIR SEE LABOUR	473.60	-
1	RHF DOOR CATCH	SERVICEABLE	40.30	-
1	RHF DOOR WEATHER-STRIP	NECESSARY	184.50	184.50
1	RHF DOOR GLASS REGULATOR	SERVICEABLE	398.20	-
1	RHF DOOR TRIM	SERVICEABLE	559.70	-
1	RHF DOOR OUTER PILLAR	TO REPAIR SEE LABOUR	772.40	-
1	FRONT GLASS MOULDING	NOT NECESSARY	117.90	-
1	RHR DOOR	TO REPAIR SEE LABOUR	982.70	-
1	RHR DOOR TAPE	NOT NECESSARY	64.90	-
1	RHR DOOR PROTECTOR	NOT NECESSARY	85.20	-
1	RHR DOOR CHROME	NOT NECESSARY	25.40	-
2	RHR DOOR HINGE @ \$80.40	SERVICEABLE	160.80	-
1	RHR DOOR CHECKER	SERVICEABLE	82.30	-
1	RHR DOOR WEATHER-STRIP	NOT NECESSARY	181.10	-
2	SILL PANEL MOULDING LH/RH @ \$810.30	TO REPAIR SEE LABOUR	1,620.60	-
2	FRONT SHOCK ABSORBER LH/RH @ \$455.30	N/S BENT	910.60	455.30
2	FRONT WHEEL HUB LH/RH @ \$290.70	N/S DISTORTED	581.40	290.70
2	FRONT WHEEL BEARING LH/RH @ \$150.60	N/S DISTORTED	301.20	150.60
2	FRONT KNUCKLE ARM LH/RH @ \$490.60	N/S DISTORTED	981.20	490.60
2	FRONT LOWER ARM LH/RH @ \$590.50	N/S DISTORTED	1,181.00	590.50
2	FRONT LOWER ARM BALLJOINT LH/RH @ \$230.40	N/S DISTORTED	460.80	230.40
2	FRONT SATBILIZER LINK LH/RH @ \$102.30	N/S BENT	204.60	102.30
1	STEERING RACK & PINION	SERVICEABLE	1,840.20	-
1	DRIVESHAFT LH	BENT	857.80	857.80
1	DRIVESHAFT RH	TO REPAIR SEE LABOUR	1,120.30	-
1	REAR AXLE	TO REPAIR SEE LABOUR	2,801.40	-

Report Ref No. CS3/III18001539/Lvbs2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	LHR SHOCK ABSORBER	BENT	296.50	296.50
1	LHR BEARING HUB	TO REPAIR SEE LABOUR	792.40	-
	LESS 25% DISCOUNT		-6,939.97	-2,037.15
			20,819.93	6,111.45
	SPECIAL NETT ITEMS			
1	RADIATOR COOLANT (SN)	NECESSARY	40.00	40.00
1	FRONT GLASS SEALANT (SN)	NOT NECESSARY	60.00	-
3	TYRE @ \$220.00 (80%) (SN)	LHF, LHR & RHF CUT / PUNCTURE	660.00	528.00
3	SPORT RIM @ \$300.00 (SN)	LHF, LHR & RHF DENTED / GRAZED	900.00	750.00
1	L AUTO TRANSMISSION FLUID (SN)	NECESSARY	40.00	40.00
2	JOINT SEALANT @ \$60.00 (SN)	1 TUBE NECESSARY	120.00	40.00
			1,820.00	1,398.00
	LABOUR			
	REMOVE & REFIT AIRCON CONDENSER, RADIATOR & COOLING FANS. DEPRESSURISE & REFILL AIRCON GAS.		150.00	120.00
	REMOVE & REFIT FRONT GLASS.	NOT NECESSARY	180.00	-
	REMOVE & REFIT DASHBOARD.	NOT NECESSARY	400.00	-
	CONDUCT LIGHTING & WIRINGS CHECK.		60.00	40.00
	REMOVE & RENEW LHF & RHF UNDERCARRUAGES.		600.00	400.00
	REMOVE ENGINE CROSSMEMBER, RENEW STEERING RACK & PINION.	NOT NECESSARY	500.00	-
	REMOVE & RENEW LHR UNDERCARRIAGES AND REAR AXLE.		280.00	200.00
	RENEW LHF, LHR, RHF RIM & TYRE.		100.00	60.00
	CARRY OUT WHEEL ALIGNMENT.		120.00	60.00
	REMOVE / TRANSFER RHF & RHR DOOR COMPONENTS.		250.00	180.00
	RUST PROOFING ON AFFECTED PANELS.		200.00	120.00

Report Ref No. CS3/III18001539/Lvbs2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	LABOUR TO REPLACE DAMAGED PARTS. ALIGN ALL AFFECTED AREAS. INCLUSIVE OF THE REPAIR OF BONNET, FRONT SUPPORT PANEL, RHF DOOR LOCK, RHF DOOR OUTER PILLAR, RHR DOOR, SILL PANEL MOULDING LH/RH, DRIVESHAFT RH, REAR AXLE AND LHR BEARING HUB.		2,500.00	1,500.00
	SPRAY PAINT ON AFFECTED PORTIONS.		2,200.00	1,400.00
	TOWING CHARGES (ON WHEEL)		180.00	120.00
			7,720.00	4,200.00
	GRAND TOTAL		30,359.93	11,709.45

RECOMMENDED COST OF LUMP SUM REPAIRS		9,350.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS3/III18001539/Lvbs2-1

MARKET VALUE: \$20,000.00 (EST)

LTA: \$10,390.00

**NETT VALUE: \$9,610.00** 

K.K.LAU CPT(RET)

BEng(Hons),B.Bus,MBA,PEng,PE, MInstAEA,MASME,MIRTE

REGD Auto Consultant-SAE, Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.